
a 1/4” drill bit, At-
tach the tail plate 
with the four 6 x 20 
BH bolts and wash-
ers to the tail plate 
support as seen in 
pic #3. 

5. Tighten all bolts. 

Install Instructions: 

Buell Ulysses 

1. Remove stock tail 
rack and back rest.  
Remove the 2 bolts 
under the seat, 
shown in pic #1.  
Using the 1/4” x 1” 
bolts attach the flat 
bar to the bike. 

2. Place the tail rack 
support on the bike 
as seen in pic #2 
using the 8 x 25mm 
bolts. Start the bolts 
to the rear most 

mounts. Some flex-
ing of the rack may 
be required to align 
the holes. 

3. Attach the tail plate 
support to the flat 
bar using the 6 x 
30mm bolts and 
8mm nuts. 

4. Place the tail plate 
in desired location 
and mark the four 
attachment hols, 
drill the plate using 

Hardware List: 

Bolt list  

3/16” washers - 
tail plate to tail 
plate support 

4 

6x20mm bh bolts - 
tail plate to tail 
plate support 

4 

8x25mm bolts - 
Tail plate support to 
bike 

2 

1/4x1” bolts - 
Flat bar to frame 

2 

6x30mm bolts - 
Tail plate support to 
flat bar 

2 

6mm nylock nuts 
Tail plate support to 
flat bar 

2 

*A removable thread lock is recommended Tail Rack & Plate 

3/16” washers -  
Tail plate support to 

2 

Included in kit 
 

 

T-3 Top plate 1 

Tube tail rack base 1 

Bolt kit 1 

Flat mounting bar 
with 4 slots 

1 

  

With aluminum Panniers and GIVI 
top case 


